O 0.001km? @ 10ha

@ 100000m? ® 1000000cm?
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@ 330a=3.3ha @ 20ha = 0.2km?
@ 540000 m2 = 54 ha @ 6.1ha = 6100 m?

® 1.7km? = 17000 a



@D 13ha=130a
@ 5.6km? = 5600 ha

® 8.5km? = 850000 m?

@ 1.8km? = 18000 a

@ 92000a = 92ha



o2 SollA WelZt 7 & AL o= AJdY7?
O 0.02km?2 @ 0.2ha ® 2000a

@ 20000 m? ® 2ha



® 0.21ha
® 5800a

® 1.41km?

@ 3000 cm x 45m

@ 1.43km?



@ 3t =3000kg @ 9000t = 9kg
® 2t =2000000g @ 0.6kg=600g

® 0.65t = 650 kg



D 240a = 2.4ha @ 0.12km? = 1200 a
® 97.2ha = 972000 m?2 @ 3140a = 3.14ha

® 3500000m? = 3.5 km?



@ 4a=400m? @ 2000a = 20ha
® 6km?2 = 6000000 m? @ 3500000 a = 35km?

® 780000 m? = 78 ha



4.2 ha

)

420(

)

42000(

® m? a

@ km?, a

® m?2, cm?

® ha, a

@ ha, m?



( )bl uke TRl E A2 112 A2 o] ZRIX] I EA|Q
3700000( ) =370( )= 3.7km?

@ m?, cm? @ m?, a @ m?, ha

@ ha, m? ® a, ha



12. FHPARAYF ] Yol Zx vetd A2 o= AJY7t?
@O 480000 m?2 @ 4.8 km?

® 4800a @ 48ha

® 4800000000 cm?



13. e 5 71§ AL ol A B2AS.

® 12ha @ 1200000 m?
@ 0.12km?2 @ 1200a

® 1200000000 cm?



14.

7Z-2old|+= 3.2ha 2] oA & 5.6t 2 AASII AL, R |= 4
o] =l A & 7920 kg & AAISFAFUTE 1a & A4tFS o]
9 kg o ¥H5U7R

O A2, 1kg @ AL, 0.1kg ® 94, 0.01kg
@ w9, 1kg ® "9, 0.1kg

a



15. ohe 2ol A AZFE 1L cen A2 cann o4 o A9
Hol7t 2 adl WU
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@ A 1L E2-16a @ AHd c=nu-16a
® AHHY 1Lt 2-18a @ A t=uB-18a

® AFE Lt 2-20a



